You must show your work and include all Formulas used.  See example Solution below.
Credit Policy. A firm currently makes only cash sales. It estimates that allowing trade credit on terms of net 30 would increase monthly sales from 200 to 220 units per

month. The price per unit is $101 and the cost (in present value terms) is $80. The interest rate is 1 percent per month.
a. Should the firm change its credit policy?

b. Would your answer to (a) change if 5 percent of all customers will fail to pay their bills under the new Fundamentals of Corporate Finance 512 credit policy?
c. What if 5 percent of only the new customers fail to pay their bills? The current customers take advantage of the 30 days of free credit but remain safe credit risks.
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Instructions
Enter formulas and comments to complete the requirements of this problem
Assumptions

Price per unit 101

Cost per unit 580

Current profits 54,200 based on 200 units sold

Interest rate 1% per month

Current sales 200 per month

Projected sales 220 per month

2. Should the firm change its credit policy?
Present value of revenue per unit

Present value of profts
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b. Would your answer to (a) change if 5 percent of all customers willfil to pay their bills under the new credit
policy?

Default rate 5%

Present value of profits. 'FORMULA
Conelusion |
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. What if 5 percent of only the new customers fai to pay their bills? The current customers take advantage
of the 30 days of free credit but remain safe credit risks.

Default rate of new customers. 5%

Present value of profits. 'FORMULA
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